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» Yook ) WK, EMKN 2 BJIEJT1K ABCD — A BC,D,*f', E, F 737 8% BC, CD ]

(1) KilE: DF /T AEC,;

(2) REZ AC, 5°F1H 4 EC Jriiff
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A I 7 1 20 ] B A

H) 1E5%4E ;

LbR %, W A4(0,0,2), E2,1,0), C(2,2,2), D,(0,2,2), F(1,2,0),

FrbL AC, =(2,2,0), EC, =(0,1,2), DF =(1,0,-2), ¥ Fifil 4EC HIERENn=(x,y,2),

-

(2) HEH, AC =(2,2,2)

fn-mz2x+2y=0
kn-E_C;:y+22=0
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(3) A4 =(0,0,2), WV AAC KRB N m=(x",y',z"), -
SIOLAWNOLATIECE

MM [cos < m,n>| =

KN |cos < AC,,n >‘ —

’ /-'Q?\’.)CZZ, IJ_J.IJ<

(1) Fn=2,-2,1)2 I AEC, F)— LR &,

,y=_2

N

FFL = (2,-2,1) 52T 4 EC, i— i,

hz=l
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NNDF -n=1x2+0x(=2)+(-2)x1=0, H DF ¢ Vi AEC,, Fith D F //*Fi AEC,.

x'-l—y'=0; £

‘m .n‘ - 4 - 2\/5 , éﬁq:_'__""

AC -n - .
L, ‘ __ 2 \/37’ FrLLE % AC, 51 4 EC, Fr A B 1EsZE £
‘AC1 ‘n‘ 23x3 9 0

rm-A_AIP:ZZ'zo @
m-AC, =2x'+2y' +22'=0 @

Sx'=1, Wy =-1, Frbhm=(1,-1,0)2FH A4 C KF—" &M=,
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2. (2023 « FrE P 145 « sookk) WK, EIEVUMH: ABCD - ABCD,"T', AB=2, A4 =4. fi4,, B,,

C2 ’ D2 %%U%E*ﬁ AAI ’ BBI ’ CCI ’ DDIJ:J AA2 — 1: BBz ZDD2 — 2! CC2 23.

(1) WEM: B,C,// A,D,;

(2) B P1EK BB, I, J 10 P— A,C, — D, 4150°}, 3K B,P.

. (1)
UL C MR RGESCANE s S R B AL PR &, W B,(0,2,2), C,(0,0,3), 4,(2,2,1), D,(2,0,2),

A B,C, =(0,-2,1), A,D, =(0,-2,1), # B,C,=A4,D,

A RIHIE % B,C, 5 A,D, hNES, FTLLB,C, // A,D,.

(2)

% P(0,2,a)(0<a<4), WAC, =(-2,-2,2), C,P=(0,2,a-3), C,D,=(2,0,~1)

o

BTN PA,C, AETHL A,C, D, HIVERIE T A I m = (x,,y,,2,)» n=(x,,¥,,2,)>

—————

A, Gy =—2x, — 29+ 2z, =0

m
P
m-C,P=2y +(a-3)z,=0

b

(x. =1—a
Ly =a-3, M :
L21=_2

B m = (1 — a,a —3,~2) ST PA,C, AN

[nA,C=-2x, -2y, +22, =0 fx. <1, - L
LH-C2D2=2x2—22=0 k22=2

ATl n=(1,1,2) & F1H A,C,D, 11— MER &,

KN ZIHM P-A,C,—D,N150°,
‘m-n‘ B ‘1—a+a—3—4‘ _ﬁ
m|-n| - J(-a) +(a-3) +4-J6 2

FITEL cos < m,n >| =
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fefs: a=381, BILLB,P=la-2|=1.

3. (2018 HIIL Yk ) Ui, CHIZ M4 ABCABC,, A A, BB, C,C¥HEHTFIi ABC, LABC =120°,

AA=4, CC=1, AB=BC=BB=2.

(1) ukBH: AByLizflﬁBﬂl;
(2) SKEL AC 5P ABB Ml fa B S K.

2. (1)

B AC W 0, %3 0B, NN AB=BC, fill AC L OB,

AN ZABC =120°, Fibh ZABO=60°, #{OB=AB-cos ZABO=1, OA=AB-sin/ABO=+3, OC=4/3,
L O AR s SN B s B 2 [ A AR &R S

M A(0,—3,0), 4(0,—/3,4), B(1,0,2), C(0,43,1),

Fiel 4B = (143,2), 4B =(13,-2), 4C, =(0,243,-3),

M AB - AB =1x1++3 x4/3 +2x(-2) =0,

AB - AC, =1x0+3x23 +2x(=3) =0,

N

it AB, L AB, AB L AC,, N AB, AC c*

1 ABC,, ABNAC, =A, FrLl AB, 1~V1fi 4B,C.

(2) B (1) 7742 B(1,0,0), HiLh AB=(1,4/3,0),

BB =(0,0,2), AC =(0,24/3,1),

BV ABB, KIAIM = N n=(x,,z)

rn-E’:er 3y=0 (y=—1
II!.IJ'< — J_y ’ /T?\XZ\E? II!.IJ<y ’
n-BB =2z=0 (z=0



A n = (/3,—1,0) 21 ABB, I— M &

U\ﬁﬁcos<n.’,A_C;>—:.; =\/1?;=9,
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W E 2 AC, 5V ABB, Bt BGHI A B IE5Z1E N \/1? .

4. (2021 « HiEE N E « ok k)1
OC =3.
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JURsHE O — ABCD 1, JEEIR] ABCD R IEJ5 ) AD =2, OD=0A4=+/5>

(1) uEBd: ~F1H QAD 1 *¥1f ABCD:;
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2. (1)

B AD W5 0, ##: 00, 0C, N OD=04=+5, FilLOoQ L AD @,

KA AD=2, bl O4A=1, OQ=\04*-04* =2,

X OC=+OD* +CD* =[5, FiLhOQ* +OC*=9=0C?, #H 00 L0C @,

Q@45 & AD, OC 21 ABCD WINAZZ BRI 15 00 L~¥1fl ABCD,

KN O0Q ¥ QAD, FrUAF-TH QAD 1 ~¥1i1 ABCD.
(2) LA AR s LB phrs i 2S5 AR R,
Il 0(0,1,2), B(2,0,0), D(0,2,0),

Fitbl OD = (0,1,-2), BD=(-2,2,0)

T OBD BVAIM = A m = (x, y,2) »




m-E:—2x+2y:0 Ly =2 D“J:y=2

e
m-QD=y-2z=0 z=1

ATl m = (2,2,1) & F1fl OBD H]—"MikA =,

ARV ADQ BI—"MZEF &2 n=(1,0,0)

M cos<m,n>=—2"" =g,
m|-|n| 3
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5. (2023 « IZRBEHL « Jokok) WK, EEH =M ABC-ABC H, E, F HR&ER AC, A4 W AT,

/BCA=/BAC.
(1) RuF: ¥ BEF L “FI ACC A, ;

(2) #5 cos LZACB = \f H T A— BF — E 45248 N 3*5/5, ﬁ%j—‘éﬁﬁ@.

2. (1)

NN /BCA=/BAC, FtbABA=BC, X E N ACHIH S, FTPABE L AC (U,
NN ABC — AB,C, ZH =W, Frbd 44, 1 ¥ ABC, X BE V1l ABC, LA BE 1 A4, @,

Q%G AC, AA 2V ACC A NWHIFHAZ HL W15 BE L V1l ACC 4, >

X BE VIl BEF, FrUl-F1fl BEF L~V ACC A,.

(2)

UL E AR S ST B PR S R B A AR R, AR BC =5, A4 =2a(a>0),




M| CE =BC-cos LACB=1, AE=CE=1, AC=2CE=2, BE=+BC>—CE*=2,

FTLA 4(0,-1,0), B(2,0,0), F(0,—l,a), E(0,0,0), # BF =(-2,—-1,a), AB=(2,1,0), EB=(2,0,0),

—

-‘Lﬁii E

ABF FIF1fil BEF HRAIME AN m = (x,,v,,2,)» n=(x,,,,2,)

mBF = 2x — y +az =0 = o |
ppd " T T T AT T s e 1, M T T, B m = (1,—2,0) 2T ABF AN,
m-AB=2x,+y =0 1z, =0
rn-B_hF:—sz-—y2+a22:0 (=0 \ e s _
3 . ; ér\yz =da, I)_],]J< » ﬁﬁu\nz(ojajl)/_\ElL 1l BEF B{]_‘ ] Yiﬁ@;
n-EB=2x,=0 1z, =1

R0 A A- BF — E NBUA, HBEEE, HRZEN 3\5/5,

FItE [cos < m,n >| = “m“n“ = \/_‘:/262‘ = 3\5/5 ,
m,-\n S-Na +1
litra> 0TI a=3, Bl =20=3,

6. (2023 VU1 R A E 4L ok e ) WK, VUil ABCD NZEH., /BAD=60°, ED 1~V ABCD,
FB//ED, BD=ED=2FB.

_— e e

(1) 3RiF: Vi BDEF L Ff AFC;
(2) R _JHF A— EF —C 454 44.

BR. (1)

KN ABCD N7, Frbd AC L BD (U,

Y ED 1 Vil ABCD, AC c ¥ ABCD, fibl AC LED @,

O@4%54 BD, ED s&~V-1H BDEF WRIMAZ HZ R 15 AC L V1 BDEF,

X AC c V[ AFC, BrUAV1H BDEF L~V AFC.

(2) I ACNBD=0, LLO AERENTME RIS BRI R, AW BD=ED=2, | BF =1,
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KN /BAD = 60°, H. ABCD 72T, AL AABD A1 ABCD #2 IE =K, #104=0C =3, OB=0D =1,

FTLL 4(+/3,0,0), E(0,-1,2), F(0,1,1); C(=3,0,0)
i EA=(\3,1,-2), EF=(0,2,-1), CF=(/3,L1),

o o e m-EA=\3x +y, —2z =0
WP IR AEF ARETH CEF A E DM A m = (x,y,,2,)» n=(x,,),,2,), W< v 3~ 25 :
m-EF =2y —z =0

éwfa,mJW“ﬁ,%um=wimﬁ?”7MF%*¢%ﬁ%f

=1
r-FIG'ETF:=2 — =O | — 1 —— \ . =i
' , Az =-2, M “‘B, L n = (\/3,-1,-2) & F1fi CEF —ANE &,
n-CF =\3x,+y, +2,=0 y, =-1

m-n  \3x3+1x(=1)+2x(-2) 1

i cos <m,n>= — g

‘mHn‘_ 2\/§x2\/§ 4

%ﬂﬂ:fﬁA<H¥C%%L,ﬂA%ﬁ@%—i

|-

S
3
S
AN
oy
|l
AN
>
O
oF

7. (2021 * B 145« whkx) MK, GE=8#HA4—-BCDH, VI ABD 1~
BD K AT

(1) WEMH: 041 CD ;

() AOCD ZihE N1 HEL=H, SELM AD b, DE=2EA, H 10 E - BC — D ] k/NKN 45°,
SR = ksHE A — BCD 4R FA .

fi#: (1) KN AB=4D, O AN BD W ri, Fibl0OA L BD, N VIl ABD 1L ~Ffl BCD, OAc-F

H-FiH A4BD NF1H BCD =BD , Ll 04 1L FifE BCD, X CD cFifE BCD, fiLl 041 CD.




RN AOCD & &A1 WIE=/, O N BD H 51, ﬁﬁuOC=OD=1=%BD, M BC L CD,

M BC=BD* —CD? =3, LA CNJE g 7 0 B s (0 23 18] B A AR AT &R

% O0A=a(a>0), M D®1,0,0), B(0,43,0), O( *f A(;,f,a),
FIitLA CB = (0,4/3,0), DA= (-;,*f,a), CD =(1,0,0)
59 DE = 264, [0\ CB = 5+ DF = CB+ 2 D= (10,04 (<L 3 2~ 2.3 2
3 3 3°3° 3°3 "3
i-CB=3y=0 @©
WV BCE RYEARIE N U = (x, y,z), W< ;
ﬁ-CE:§x+§y+§aZ:0@

®Hf?-%"y=05 106)\@’[{'%@‘?%%4-&2:0, é?’\x:a: I)_UJZZ_I:
Fir A i = (a,0,—1) &°F 1 BCE W—"MikF=, HEWH, v=(0,01)2FH BCD K—A~VElH &=,

5y 0 E — BC— D /N3 450, FiTbcos <0, >| = “f“"‘i‘ - 1,4t
¥ ¥ a” +1

, BT a=180-1 (FX),

Fir LA =% HE 4 — BCD WZIK%HV%X%X 3x1x1=€.

8. (2023 « WIVLBHLINEEFL « dedh koK) WK, FE=EHP-ABC H, APAC &=1E=#F%, AC L BC,
AC=BC=2, D 7 AB {9 .

(1) WEBH: AC L PD;
(2) #H_MA P—AC—-D N150°, REZ BC 51l PAB Pl A ) 1E5%1E.

2. (1)

e, BACH S E, %R PE, DE, (NN D RN AB F ¥, FiLL DE/BC, X AC 1L BC, Ll AC 1 DE,

—

RN APAC = 1E=ffT, Ll AC L PE, 44 PE, DE VI PED, PE(NDE =E w1 AC 1 “FH PED,




.-

AN PD c F1H PED, FLL AC L PD.
(2) VL E NJR ST~ B 25 8] B A AL AR 2R (1) %1 #/PED & _Hfi P- AC — D B F- 1 fa,

N
{
\y

WiZ, /PED=150°, {E PF 1 DE EKZT F, W /PEF =30°,

KN AC=BC=2, FhbADE=1, PE=\/§, EF=PE-COSZPEF=%, PF=PE-sin4PEF=§,

343

FirbA B(-1,2,0), C(-1,0,0), P(o,_2, 23), A(1,0,0), # BC =(0,-2,0) » AB=(-2,2,0), E:(—L-—2, ; )

rn-A_B}=—2x+2y=0

iﬁEZTPAB E@?fﬁ%%l’l:(x,y,z); I)_J.U< . 3 \/5 ) é?\JC:\/g: I)_J.U<y=\/§,
n-APz—x—Eer?z:O z=3

. BC -n
Fibh n = (3,43, 5) & “Fifi PAB ft)— /i &, Mﬁﬁ‘cos<BC,n >:B_C ‘ =22:/Z71=\é91:3,
- l\n X

WM B2 BC 5°F1H PAB PR fB ) 1IE5Z4E N %.

9. (2023 « VU ELE « sk k k) WK, Wil ABCD &2 AR NN A T, AC =&

PC ZIFAMIIFE, ER ACE5 BD WA S, AB=AD, /BAD=60°.
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A
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(1) TR RAE Y, DU P— ABCD [AELH 7, jz%

2

(2) WH FAELE AP I, HPA=4PF, PC=4CE, R _THf F-CD-P 45444,

7. (1)

E—

w1, wACH SN O,

OX12Nr, RINAB=AD, /BAD=60°, FTUL AABD H~N1E—=FfH,

J3r

2

pali

W AC L BD, H LOBE =30°, FTVL BE =0OB-cos ZOBE = , BD=2BE =3,



2
VUL ABCD E’F%HSABCD=1AC-BD=1x2rx\/§r=\/§r2, SRR A R, M= T B
o, 2 v, 1 2
2 3><\/§r h

’

(DOLLCHNE SN B2 B B AL R, H(1)R[15 OF = OB -sin ZOBE = % CE=0C —OE =

r\/gr
2

N PC=4CE, Fibl PC=2r, ¥ P(0,0,2r), C(0,0,0), D(2,

L
2

,0), A2r,0,0),

ﬁﬁU@z(;,fr,O), CP =(0,0,2r),

KK PA=4PF , JitLA CF = CP+PF=CP+%E’4=(0,0,2r)+%(2r,0,—2r) =(%,0,3§),

— 7 V3r
AT VA N EL 7\ Hyl > - - Ml m-CDz—ler—y]:O
Vil PCD, FCD HIEIFE= M A m=(x,y,,2), n=(x,,,,2,)» NI y 5 ;
m-CP=2rz, =0

B TV=0 B Wy =1 dm = (L 0V PCD MR,

1z, =0
— 7 3r
n-CD=—x,+—y, =0 ( i
++/3y, =0 =—/3
R< - f 33 s ﬁﬁw\<xz+;/_yi0 . /'\':7\.7(:2:35 I)_J.]J<y2__l\/_,
n CFZE-XQ'I'EZQZO ‘xz “2 7 ‘Zz_

m-n 4\/§ 2@

FIitbh n=(3,—/3,-1) & FIfil FCD W)—/~km =, MI cos<m,n>=

’

m|n] 2xJ13 13

Arl %A F-CD-P N, WS ZEN 2*1/3?:9 .




